REVERSO P

Pool & airhockey table / Pool- und airhockeytisch / YN71/7/M™21]214
Pool- & airhockeytefel /Table de billard et d’airhockey /

Mesa de billar y d’airhockey / Tavolo biliardo e airhockey

3+

WARNING 4 @ @ )

USER MANUAL gs)

Keep instructions for later use

GEBRAUCHSANWEISUNG

Anleitung zum spéateren Gebrauch aufbewahren

Read these instructions carefully before use.

GEBRUIKSHANDLEIDING WARNING

Handleiding bewaren voor later gebruik CHOKING HAZARD - SMALL PARTS
M O D E D[ E M P LO I Not suitable for childeren under 36 months.
Conserver la notice pour usage ultérieur

WARNING

MA N UA |_ D E U S UA RI O THETOY IS TO BE ASSEMBLED BY AN ADULT.

Guardar estas Instrucciones para su uso future
WARNING

I N ST R U Z I O N E P E R L’ U S O Potential hazard description, e.g. in unassembled state
contains potentially hazardous sharp points,

Conservare l'istruzioni per uso successivo so please keep out of baby’s reach.




REVERSO Y 4
A040.006.00 LOuLGAR
i "
Table Cabinet Leg A N Leg B N
1 pc 2 pcs 2 pcs
#5 #6
\,
En
Legs patch Ball box A Ball box B
2 pcs 2 pcs 2 pcs
#8 #9

S

/

@”@

Leg side panels Foot cover Counters
2 pcs 2 pcs 2 pcs
#10 #11 #12

Leg Levellers
4 pcs

&

Axle of the table
2 pcs

Rotate handles
4 pcs




REVERSO

A040.006.00

Y

LIDuLAR

#13
@xm;@/

Screws D5x 1-1/2

#14

g

Screws T4 x 19mm

#15
@EKW]

Screws F5 x 1-1/8"

#16

Bolts 1/4" x 25mm

22 pcs 8 pcs 6 pcs 16 pcs
#H17 #18 #19 #20
Q@ QXXK&I%] o o

Bolts Washers

5/16"x 130mm |Screws F4 x 1-1/8" | 1/4" x 19mm Washers 5/8"

12 pcs 4 pcs 16 pcs 4 pcs

H#H22 #23 H#H24 #25
O O (® &

Washers Washers Barrel nut

516" x 35mm 5/16" x 19mm 5/16"x 15mm Nuts 5/16"

2 pcs 12 pcs 12 pcs 2 pcs

#H26 #H27 #28

Nuts 5/16" Screws P4 x 1-1/2" |Screws T4 x 12mm

2 pcs 18 pcs 12 pcs




REVERSO

Y

A040.006.00 fOUGAR
0000
Q0000
Q000
©]®]0]®)
Billiard Balls Chalks Table Brush
1 set 2 pcs 1 pc
Triangle 2-pc Cues Strikers
1 pc 2 pcs 4 pcs
O | &= ]
Pucks Wrench Cue hook
4 pcs 1 pc+1 pc 2 pcs
Hook

1 pc




R

REVERSO

A040.006.00

LIDuLAR

STEP 1

STEP 2




REVERSO

A040.006.00

LIDuLAR




LIDuLAR

REVERSO

A040.006.00

STEP 6




REVERSO p..

A040.006.00 LDULHR

3. GUARANTEE

Pragma / Cougar Games provides a 2-year guarantee on the Reverso when properly

used in respect of the joints and accessories.

Pragma / Cougar Games gibt entsprechend den allgemeinen Garantiebestimmungen
fir die Reverso bei richtiger Verwendung eine Garantie von 2 Jahren auf die

Verbindungen und das Zubehor.

Pragma / Cougar Games verstrekt op de Reverso bij juist gebruik een garantie van

2 jaar op de verbindingen en accessoires.

Sur le Reverso, Pragma / Cougar Games offre une garantie de 2 ans pour les raccords
et accessoires a condition de I'utiliser de maniére adéquate et conformément aux

conditions générales de la garantie.

Pragma / Cougar Games ofrece una garantia de 2 afos a las conexiones y

accesorios de Reverso, siempre que se utilicen de forma adecuada.

Il Reverso - fermo restando un idoneo utilizzo - da una garanzia

Pragma / Cougar Games di 2 anni sui giunUti e sugli accessori.




proeas gams

| .“a‘l..“

A Pragma Brand

Cougar Games is one of our brands
with fun table games of great quality
that offer hours of social fun!

Pragma / Cougar Games
Kruisboog 40

3905 TG Veenendaal

The Netherlands
T:+31(0)318-5788 00
info@pragma-trading.com
www.pragma-trading.com

Article number / Artikelnummer / Artikelnummer /
Numéro d'article / Numero de articulo / Codice articolo

A040.006.00

8117179731 930587

LDuLAR

181205JWV




